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@/ A and B are working separately can do a piece of work in 9 days and 12 dayse&=
respectively. If they work for a many day alternatively A beginning, in how

many days, the work will be completed?
A 3R B AEHT-STRT 1 X 1§ & sheT: 9 fot ot 12 R o wvrw ot uah gahet
HT TR | (e A Teh o q1S Toh 3T AT HTH LA 2, ST /1 Y JrEaTa A i

v, fora foat & sy or 8t st Ma) 10 (1/4)
(b) 10 (1/3)
(©) 10 (1/5)

(d) 10 (1/9)

/R
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S :
L:E,) A sum of money was divided between Shivani and Pramita in the ratio S : 7. If pramita %
gave Rs. 5 to Shivani, the ratio would change to 3 : 4. What is the sum of money that

got divided?

5: 7.3 AUTA § Tt o7 it & sfter o st sean fean war om afe wiar T 5 s
Frart = faar at staTa 3 « 4 W et e 4 v AR @ g R e mar @)

ya) Rs. 420 |

(b) Rs. 432
(©) Rs. 396
(d) Rs. 408

B




kt;) Raksha can complete a piece of work in 27 days while Esther take 45 days to
complete the work. They start working together, but Raksha leaves 9 days before

the work gets over. For how many days does Esther work?
TRAT I Y 27 FoT § O ot ekt &, TTafeh Teat il T QU o § 45 R e §1
T AT HTH HEAT JI& A &, ATk 10 el 1 o 9 o et 18 g ¥t §1 v

foran faai & foro s wvar 82
Ma) 22.5 ']

(b) 18
(©) 13.5

(d) 10




e V3-1
V3+

= a + b\/§;then a’+b* =7
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@®7 A cosmetic shop has different brands of cosmetics and accessories. 50% of the store's sz | p§ :
come from selling hair accessories. 40% comes from personal hygiene products. Every
quarter, the store's sales on an average is Rs. 1500000. What is the shop's approximate

(=

average monthly sales from personal hygiene products?

Teh HhiEA e N W i e IR TaREHS & AAN-3AT 1S gl TR b forhr &1 50% et
AT S B HATAT 31 40% ARG TosaT IeaTal & AT 3| Tedeh fawe #, sfvas g
i farsht 5. 1500000, safera Tt Seaei & et AFETa sitaa AT fashr aar §2

| ) Rs. 200000

(b) Rs. 500000
(©) Rs. 250000

(d) Rs. 300000
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KL‘ ? Ramesh had 50 paise coins, Rs. 1 coins and Rs. 5 coins in the ratio of 2 : 3 :5. &2
The total amount of money with Ramesh is Rs. 116. What is the number of 50

paise coins with him?
AT T 50 T o Foraan &, 5. 19 Torack o &, 5 fraeh 2: 3: s F oquma H )
AT & UTH et WHT S, 116 T 36k TTH 50 T8 o Ferarent i e foat 22

(a)6

OF
(c)12

»or




tan609—tan30°
1+tan60%tan309

A=tan30and B =

which of the relations stated below is true?

foe o weiel O @ ST AT A ¥2




—l”" IfV75 + 5363 = 51\’, what is the value of N?

N T W T 82




1
. is
sin100g

~ 1 Ifsin® + cosec O =2, then the value of sin'%°@ +




: A sum of money invested at compound interest doubles itself in 6 years =

At the same rate of interest it will amount to eight times of itself in —
AT g, SATT UL TRITAT AT & 6 TI H FR[AT BT ATAT 31 ST Sl G0 R

TR A AU AT | TS AT I Fit -
(a) 15 years

M) 18 years |

(c) 10 years

(d) NOT
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= I s e W ©)
Kf“”’"l" If a number N is divided by then we get 10 as remainder. is divide8e 2%

P
i 3 T —

by 12, what will be the remainder?
T Uk WEAT N &1 132 A e frrsrar  av e 10 e Remr 1 sk N2y
12 A feriiRra fora SArar 2, 9 st I 2eT?

(a) 4
(b) 12
(© 10
d)8




Find the unit digit of the number 532375+ 819532 +87777 + 985325 -11215,

TEHT T TohTE 3k TTA hITSTT




E«:‘)
KL;: 5 A right angled triangle with sides of 6 cm, 8 cm and 10cm. Find the ratio of &

in-radius and circum radius respectively.

6 A+, 8 At 3R 10 A+ & weAt &% WY U AHHIT Bregen swwr: o B
IR aRFEAT & AT T Uar oG

(a)4:5

w)zzs

(c)5:2

(d1:2
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KL: 6 By selling 33m. Cloth, a shopkeeper loses money equivalent to

selling price of 11 m. Find his loss percentage?

33 HY. HUST A, T THER 11 Hiet h farsht Aoy & Trar 47
THAT IBTAT 3| SHEhT THATT AV AT hIRTA? ) 25%

(b) 11%
(©) 33%

(d) 20%
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uf A dishonest fruit seller sells fruits at 5% loss. If he uses 850 gm weight M=

place of 1 kg weight, then what is his profit percent?

Teh AeHAT BT fehaT 5% T W et Sorat 21 afe 92 1 foret s & s
X 850 TTH T hT STTNT AT &, AT IHERT ATH TfA9Td o-T 82

13
Mmﬁ%

12
(b) 11E%

(©) 11.5%

) 12.%
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A cricketer gives 18.4 runs per wicket. He gives 60 runs and takes S wicket &2
1n a match after which his average becomes 18 per wicket. How many
wickets had been taken till the last match?

T forchet afer fahe 18.4 W 3aT 31 Ig v A & 60 T 2t B 3 5 farehe @at
T R a1 39T oitHa 18 Ui i 2t strar 21 faser e o foran i

ferg g a2
!’IES75

(b) 80
(c) 85

(d) NOT




: If/ﬂ'f! a=5,b=-6,c =10 then the value of/AT ATA !l

(a3+b3+c3)-3abc
ab+bc+ca—a2—b2—c2 Is:
(




E«:‘)
kf:’f?" 0 At the centers of two circles, two arcs of equal length subtend angles of 60° &€

and 75° respectively, the ratio of the radii of the two circles is :

S T % hel U, THT HaTE o6 B 19 SHA: 60° SR 75° F 0T a1 &,
I <t B &1 ST #:

(@)5:2 |

M)SM

©3:4

d2:1




Q21.Mehak deposited a total of Rs 10500 with a bank 1n two different deposit schemes at 10% pa

compounded annually . As per the schemes ,she gets the same amount after 2 years on the first

deposit as she gets after 3 years on the second deposit. How much money she deposited for 3 years?
HBD ol BD dD 3 Gl ICIO1-3IcTdI ST ATSIoM3Il 3 10% A1t aebdl.g 62 U2 Pel 10500 DU
11 fopu] ANSTeN3Il & IofAR, 3 Uscil SIHI AN U 2 Alel D dlc Icloil &l 21fr fBrerddi 8

| 1S1tofl 321 3 21T W6 G2t Stet UR fdtcicdl 81 33tol 3 auf 31 fobdot ¢rot Sior fopar? ,]
1. 4500
2. 5000
3. 7200
4. 6500
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Q22.C is 40% efficient less than A. A and B together can finish a piece of work in 10 days.

B and C together can do it in 15 days .In how many days A alone can finish the same piece

of work?

C 40% DH PIcI & A 3, A 312 B b AT 10 {Soll 3 DIH DI 2 B2 ADd 3. B

31} C U AT A3 15 fSoll 3 D2 ADdd 3. fbelol oIl 3 A 3Tl DBIH DI AcH D2
ADAL B? |

(1) 18
2) 12
(3) 14
4) 20
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23)The speed of a boat is 8 km/h in still water and the speed of the stream is 2 km/h, if the boat
takes 4 hours to go to a place and comeback. Then find the distance of the place.

i )
A

U olld bl 9Iid Sicl 3 s1fcr 8 fpatl/ziet B iR eI bl s1fer 2 fopafl/eiet 3, At oira o1
T FeATol UR Silol 317 dIUA 3ol # 4 €¢ ¢I31d zl dl FeIlol bl Gl sira difsral

1. 25
2. 10
3. 12
4. 16




24) Pipe X and pipe Y together can fill the tank in 45 hours ,while pipe X ,pipe Y and pipe -
Z. together can fill the tank in 60 hours and pipe Y and Z together can fill the tank in 90
hours . In how many hours pipe X alone can fill the tank completely .

ursy X 3iz ursu Y fHcIas: b bl 45 @ 3 42 DA 8, Sidich UIsU X, Ursu Y 3ii
Ursy Z f3c1n: b Dl 60 ¢ A U2 ADd & 3R UrsU Y 3R Z fBictap: b @l 90 @i 3
313 APd 3| UISU X 3dbcl ¢ Dl fdbdol & 3 3R ADdI &

180
150
145

none

P -




25)A vessel contain mixture in which water is 30% and rest is milk . If 22 liter more water

is added in the vessel , then the quantity of milk become 60% more than water . Find the
quantity of milk in the vessel initially

Qb sciol 3 farervr 3 f512131 30% uroll 3 3iiz ardbl g1 31 AfS siciol 3 22 cfic urell 3iiz
férem fa Sirg, A ger &1 s aredl A 60% 3iféra 8 Sirdl 31 31 d adot 3 ger b

#ABII SId bifste .]

1. 122
2. 112
3. 121

4. none







